JUNIPER 3 SEAT SLEEPER ASSEMBLY INSTRUCTIONS

JUNIPER UCLU KANEPE MONTAJ TALIMATI

JUNIPER CANAPE-LIT 3 PLACES INSTRUCTIONS DE MONTAGE
JUNIPER SOFA CAMA 3 ASIENTOS INSTRUCCIONES DE MONTAIJE

JUNIPER 3ER SOFA MONTAGEANLEITUNG

—

A ¢ B C D E F
\ =D
ACCESSORY (5 S2
AKSESUAR | :
ACCESSOIRE FOOT @ BOLT HIDDEN FEET STUD BOLT BUTTERFLY NUT STUD BOLT
ACCESORIOS AYAK CIVATA YDB M6x30 | GIZLI AYAK SAPLAMA M8x60 KELEBEK SOMUN SAPLAMA MBx80
7, PIED DE CANAPE| BOULON PIEDS CACHES GOUJON FILETES ECROU GOUJON FILETES
ZUBEHOR PIE DE SOFA PERNO PIES ESCONDIDOS TORNILLO DOBLE ROSCA|[ TUERCA MARIPOSA | TORNILLO DOBLE ROSCA
FUSS SCHRAUBE VERSTECKTE FUSSE [ STIFTSCHRAUBE FLUGELMUTTER STIFTSCHRAUBE
Quantity
Miktar-Quantite 4 16 2 6 12 3

Cantidad-Menge



AutoCAD SHX Text
AYAK

AutoCAD SHX Text
FOOT

AutoCAD SHX Text
PIED DE CANAPE

AutoCAD SHX Text
PIE DE SOFA

AutoCAD SHX Text
FUSS

AutoCAD SHX Text
GIZLI AYAK

AutoCAD SHX Text
HIDDEN FEET

AutoCAD SHX Text
PIEDS CACHES

AutoCAD SHX Text
PIES ESCONDIDOS

AutoCAD SHX Text
VERSTECKTE FÜSSE

AutoCAD SHX Text
SAPLAMA M8x60

AutoCAD SHX Text
STUD BOLT

AutoCAD SHX Text
GOUJON FILETES

AutoCAD SHX Text
TORNILLO DOBLE ROSCA

AutoCAD SHX Text
STIFTSCHRAUBE

AutoCAD SHX Text
KELEBEK SOMUN

AutoCAD SHX Text
BUTTERFLY NUT

AutoCAD SHX Text
ECROU

AutoCAD SHX Text
TUERCA MARIPOSA

AutoCAD SHX Text
FLÜGELMUTTER

AutoCAD SHX Text
SAPLAMA M8x80

AutoCAD SHX Text
STUD BOLT

AutoCAD SHX Text
GOUJON FILETES

AutoCAD SHX Text
TORNILLO DOBLE ROSCA

AutoCAD SHX Text
STIFTSCHRAUBE

AutoCAD SHX Text
CIVATA YDB M6x30

AutoCAD SHX Text
BOLT

AutoCAD SHX Text
BOULON

AutoCAD SHX Text
PERNO

AutoCAD SHX Text
SCHRAUBE 


	Sheets and Views
	Model


